RESOLUTION NO. 32-92 **CITY OF CENTERVILLE, OHIO**

SPONSORED BY COUNCILMEMBER <u>SUSAN LIENCESCH</u> ON THE <u>LET /1</u> DAY OF <u>MAY</u>, 1996.

n k R S C S S

A RESOLUTION ACCEPTING THE BID FROM L.P. CAVETT COMPANY FOR THE 1996 ROAD IMPROVEMENT PROJECT, CONCRETE REPAIR AND ASPHALT RESURFACING FOR THE CITY OF CENTERVILLE, AND AUTHORIZING THE CITY MANAGER TO ENTER INTO AN AGREEMENT IN CONNECTION HEREWITH.

WHEREAS, the City of Centerville advertised for bidders for the 1996 Road Improvement Project, Concrete Repair and Asphalt Resurfacing pursuant to specifications prepared by the City; and

WHEREAS, L.P. Cavett Company was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY **RESOLVES:**

That the bid submitted by L.P. Cavett Company marked Exhibit "A" Section 1. attached hereto and made a part hereof, is hereby accepted in the total amount of \$514,357.50, and that the City Manager is hereby authorized and directed to enter into any necessary agreement to evidence acceptance of said bid and to make payment pursuant thereto.

Section 2. That the City Manager is hereby authorized to expend up to a total amount of \$520,000.00 in accordance with unit prices guoted in the bid submitted by the L.P. Cavett Company for additional repairs as deemed necessary.

This Resolution shall become effective at the earliest date allowed Section 3. by law.

PASSED this <u>loth</u> day of <u>MA4</u> _____, 1996.

Sally D. Bulls Mayor of the City of Centerville, Ohio

ATTEST:

Clerk of Council of the City of Centerville, Ohio

CERTIFICATE

The undersigned, Clerk of Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 33 - 96, passed by the Council of the City of Centerville, Ohio, on the <u>646</u> day of <u>1409</u>, 1996.

Marila Ing Sau Clerk of Council

Approved as to form, consistency with the Charter and Constitutional Provisions. Department of Law

> Robert N. Farquhar Municipal Attorney

Exhibit "A"

BID SHEET 1 OF 5

BIDDERS PROPOSAL

CONCRETE REPAIR AND ASPHALT RESURFACING ROAD IMPROVEMENT PROJECT - 1996

Having read the specifications and examined the drawings included herein:

P. CAvett

Concrete Repair and Asphalt Resurfacing Road Improvement Project - 1996 City of Centerville, Ohio

for the construction of said project in Centerville, Ohio, and having also taken into account all addenda issued, the undersigned hereby propose to furnish all materials and to perform all labor, as specified and described in the said Specifications and as shown in the Plans for the said work, for the following sums:

A. STATEMENT BY ALL BIDDERS:

15.

Submitted by: ____

The receipt of the following Addenda to the Contract Document (drawings and specifications) is hereafter acknowledged.

Addenda No. _____ Date _____

Addenda No. _____ Date _____

B. CONSTRUCTION COST INFORMATION (breakdown required)

The bid shall be broken down as follows and the grand total shall be the sum of all items.

	DESCRIPTION	QUANT	YTIY	UNIT AMOUNT	AMOUNT
202	Concrete Pavement Removed	600 SY	\$	8.00	\$ 4800,000
202	Concrete Curb Removed	6,000 LF	\$	3,00	\$ 18,000.00
202	Concrete Driveway Removed	500 SF	\$	1.00	\$ 500,00
202	Curb Ramp Removed	200 SF	\$	1.00	s200.00

BID SHEET 2 OF 5

202	Guardrail Removed for reuse - Shortening posts & relocati reconstructing guardrail	535 LF ng/	s <u>4.90</u>	\$ 2621.50
202	Sidewalk Removed	500 SF	\$ 1,00	\$ 500.00
253	Pavement Repair	1,400 SY	\$ 24.50	\$ 34,300.00
253	Pavement Repair - Restoration of shoulder on Centerville Station Road	40 CY	\$ 80,00	\$ 3200,00
253	Undercutting	20 CY	\$ 25.00	\$ 500,00
253A	Pavement Repair - Special Type A - Montgomery County water main cuts	100 SY	\$ 46.50	\$ 4650,00
253A	Pavement Repair - Special Type B - Montgomery County water main cuts	60 SY	\$ 40.00	\$ 2400.00
253A	Pavement Repair - Special Type B - South Main Street	200 SY	\$ 40.00	<u>e 809 - 2</u>
254	Pavement Planing with millings to Contractor	43,665 SY	\$\$	<u>\$ 43,665.00</u>
301	Bituminous Aggregate Base 2 ½" thick, including rolling existing gravel bas (Yankee Trace Maintenance Building Parking Lot)	262 CY e	<u>\$ 47.40</u>	<u>\$ 12,418.80</u>
404	Asphalt Concrete, 4" driveway	1,000 SF	\$ <u> </u>	\$ 3250,00
404	Asphalt Concrete; 1 3/4 " to 2"	7,620 TONS	s_ 25.15	\$ 191,643.00
407	Tack Coat; 0.2 GAL/SY	12,900 GAL	s <u>, 01</u>	\$ 129.000
408	Prime Coat; 0.2 Gal/SY	6,790 GAL	\$,00	\$ 20790.00
452	Concrete Pavement, 6" thick	600 SY	\$ 22.50	\$ 13,500.00
452	Concrete Driveway, 6" thick	500 SF	\$ 4.00	\$ 2000.00

.

• • • • •

BID SHEET 3 OF 5

603	12" Pipe Rebuilt	30 LF	\$ 45,00	\$ 1350. EVES
603	12" Pipe Replaced	30 LF	\$ 45.00	\$ 1350.00
604	Major Catch Basin Repair	12 EA	\$ 250.00	\$ 3000.00
604	Major CB Repair with 1 pipe sectio	n 2 EA	\$ 300.00	\$600,00
604	Minor Catch Basin Repair	25 EA	\$ 175,00	\$ 4375,00
604	Minor CB Repair with 1 pipe sectio	on 1 EA	\$ 200.00	\$ 200,00
604	Catch Basin, Type 2x2, installed	1 EA	\$550.00	\$ 550.00
604	Manholes Adjusted to grade	25 EA	\$ 175.00	\$ 4375,00
604	Water Valves Adjusted to grade	25 EA	\$	\$ 1500.00
605	4" Underdrain under grass	500 LF	\$6.50	\$ 3250,00
605	6" Underdrain under grass	50 LF	\$ 7.00	\$ 350,00
605	4" Underdrain under driveways	100 LF	\$ 9.00	\$ 900,00
605	6" Underdrain under driveways	25 LF	\$ 9.00	\$ 225.00
606	Guardrail, Type 5, Installed (including treated round woo posts, spacers and all necessary appurtenances)	535 LF od	s 12.60	\$ 6741,00
606	Additional cost for guardrail posts, 9 feet long	86 EA	\$ 17.20	\$ <u>1419,20</u>
606	Type "E" Anchor Assembly	1 EA	\$ 625,00	\$ 625.00
6 06	Type "T" Anchor Assembly (including flared end sectio	1 EA	\$ 530.00	\$ 530.00
608	4" Sidewalk - concrete	500 SF	\$ 4.00	\$ 2000.000
608	6" Curb Ramps - concrete	200 SF	\$ 4.02	\$ 800.00
6 09	Concrete Curb and Gutter - replaced	6,000 LF	\$ 16.50	\$ 99,000,00
614	Maintaining Traffic	LUMP SUM	\$ 5500.00	\$ 5500.00
640	Double Yellow Centerline	1.04 MI	<u>\$ 865,00</u> <u>\$ 530,00</u>	\$ 899.60
640	Edge Line (4" white)	1.68 MI	\$ 530,00	\$ 895.40

BID SHEET 4 OF 5

825	Crack Seal, Type III	26,000 LBS \$	\$ <u>20</u> , 800,00
		GRAND TOTAL - ALL ITEMS	\$ 514, 357, 50

ALTERNATE BID ITEMS: Street Program Related

• • • • •

254	Pavement Planing w/millings to City	43,665 SY	\$ 1.30	<u>\$ 56,769.50</u>
404	Recycled Asphalt Concrete; 1 3/4" to 2"	7,620 Tons	s 24.70	\$ <u>/88,214.00</u>

ALTERNATE BID ITEMS: Yankee Trace Maintenance Building Parking Lot

402	Asphalt Concrete; 1" thick	105 CY	\$ 49.60	\$ 5208.00
404	Asphalt Concrete; 1 ½" thick	160 CY	\$ 51.80	\$ 8288.00

BID SHEET 5 OF 5

C. COMPLETION DATE INFORMATION

The bid price reflected above represents a completion date of **August 30, 1996**. If an alternate completion date is proposed, it shall be specified hereafter.

ALTERNATE COMPLETION DATE $_$	PNE

D. CONTRACT PREPARATION INFORMATION

The bidder shall supplement proposal by supplying the following information for use in the preparation of the Contract.

NAME OF COMPANY/CORPORATION: L.P. CAVELL SHRAL NAME OF PRESIDENT: __ MARK Ave. OHIO 45215 inci NALA ADDRESS: LOO SHEDHER CITY, STATE, ZIP ____ FEDERAL TAX I.D. # : 3/-052/486 TELEPHONE # : _______ -0400FAX # : ______513-0160

EXECUTION OF PROPOSAL

NOTE: Failure to sign proposal shall result in rejection of bid.

THIS PROPOS	AL SUBMITTED BY: J. P. CAvett Co.
	(NAME OF CONTRACTOR)
BY:(S	IGNATURE OF CONTRACTOR ØR AUTHORIZED REPRESENTATIVE)
DATE:	MAY1, 1996
Contact per	son for Contract processing: Bob MOUNT
Mailing add	ress if different from above: